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1.
What does the man do?
A. An artist. B. A house painter. C. A cleaner.

2.
When will the boy go to bed?
A. At 9:40. B. At 9:50. C. At 10:10.

3.
What does the boy’s new history teacher look like?
A. She has red hair. B. she is tall. C. She is quite short.

4.
Why does the man refuse the woman?
A. His car just broke down. B. He’ll use his car. C. She can’t drive.

5.
Where is the No.1 Hospital?
A. Across from a bank. B. On Zhongshan Street. C. At the end of 5th Street.

6.
W — BB E, EE TR NE.
[ 1] From whom did the woman know the man likes watching movies?
A. The man’s brother. B. The man’s wife. C. The man’s sister.
[2] What will the man do this weekend?
A. Visit his brother. B. Go to the movies. C. Listen to classical music.

7.

W — BB E, BE LT ME,
[ 1] What are the speakers doing?

A. Having a class. B. Going over their lessons. C. Having a test.
[2] Where is Queensland?

A. In Canada. B. In Britain. C. In Australia.

8.

U7 T — BRI E, BE LT E
[ 1] How does the woman feel at first2

A. Unhappy. B. Excited. C. Tired.
[2] What does the man say about'the worhan?

A. She should lose weight. B, Herhair i8\in a mess. C. Her clothes are nices
[3] What will the woman probably do next?

A. Buy a dress. B. Wearjeans to thé party. C. Have a talk with her mum.

9.

W T — BRERGE, BT ME,
[1] Whatdoé$ thehan plan to do this stmmer?

A. Sitaboutaat honte. B. Take a job. €. Take,some interviews.
[2] Whatfis Alice related to the woman?

A. Her sister. B. Her neighbor. C. Her cousin.
[31 What did Alice have to do for the Browns?

ArTake care of the pets. B. Look after the children. C. Grow plants around the house.
[4] What did the woman do this morning?

A. She attended an interview.

B. She had fun with a group of friends.

C. She rang the Student Employment Office.

10.

T E—BMA, EEUTAE.
[ 1] How did the speaker get the information?

A. Over the radio. B. From car makers. C. From the newspaper.
[2] How many cars will be on the roads by 2025?

A. 560 million. B. 516 million. C. 140 million.
[3] What is a major problem caused by cars?

A. The increasing cost. B. The road accidents. C. The air pollution.
[4] What is the speaker mainly talking about?

A. Major road accidents in the country.

B. Problems cars have brought to the country.

C. The balance between car buyers and car makers.

11.



